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Three hours Additional Reading Time - 10 minutes
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Use additional reading time to go through the question paper, select the questions you will answer
and decide which of them you will prioritise.

oBma (gedin) / srdsd (Cwmang8sw) / Music (Western) I

eeBe gad/uwsasun/ Note :
(1) Bug © odm»Ocd BExo; wuwumm.
61606UT  ElENTBBEBHG Nl H(HB.
Answer all questions.
(i) 1-40 oo gdm»oE (1),(2), 3), (4) BEnG1EES! B0 ewl DB wigewm el BEnS emid ozin.
1 OprLdsn 40 eusnpwlsien @euteurm elamelaud (1),(2),(3),(4) sen semeliL L L sflsnLsefled Ffluimen
Seve0al sL QuTGdswnea alenLsnudh Csflaaus.
From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate.
(ili) @A wwewm BEnJ; vged o= O gdme wgw € 18 D gnedsl @2 emid vl BExel gwwd
weetm »oa ne (X) e ewicsin.
2 106@ eupislULBsiTen almLSareisy @staurm olamased 2 flu el kseled 2 g
alsmLuflenr evdsasamns @55 aIlLSHaieiCen Usiemgen (X) @@s.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.
(iv) 2@ BEno; smed B8gowm & g oo coect ¢ o1eB8cees Swd, &8 ¢ B88uisim.
allenLSHTeMal WpUSSEHH SHIUUL H6Ten DD DNlaymIHoHe0EmETUD Saueiions aurdlbal ceubenpll
Uleirumbmiss.
Further instructions are given on the back of the answer sheet. Follow them carefully.

- J

1. oom ecws’ 0833 088 88es300ud ¢nd & i Db O» dylien 800 gdas BO1CE BERS RO ¢7
eiraumeuemeummieit engd F&CansamaCanu sy Berer Ly Senell TamiuBsss Copeneuuimer Sflumet

aflenL e1gy?
Which of the following is the correct answer to complete the given bar according to the time signature?
0 - 5
RrE T =ay = o
@/ [— |
(1) Atriplet of quavers (2) A duplet of crotchets
(3) A triplet of crotchets (4) A duplet of quavers

2. o®8 & 18 €00 gnd sl Hud Bed ¢?
SO Beten Bhs eauTmISEHSS L Uuled aSHsene Grmeiery ©_eiienss? > g
How many tones are there between the given notes?

) 5 @ 63 3 7% @ 8

B
[2 &5 BQ® Rede. / us. 2 i1 unfés / See page 2
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3. c®0® & g8 e0ded O3nle®SE eEdDIesi0 B0dw B ¢? J"j
@G SIUULBeTen eaursHHer aearanioals FGeuevain eoaTD 6157 P
Which of these would be the enharmonic equivalent of the given note? o

o
Ny Moy —
O = @ 8= 3 ) ZF
b T e 1A%

e

4. =098 @ @18 390 @IOY0 e B0 Eedm, €00 ¢simde e®is RO ¢?
SIULL Beiten eroaupmisemen GeGai G bBUTSI 2 HeurG evauy Benl Lleustl 61517 Fsb
What is the interval formed when the given notes are inverted? ) R e e

(1) Minor 3 (2) Perfect 5™ (3) Minor 6% (4) Major 6%

|
TP
L= 4
i

5. 0B 9riobes’ emided DAE me ¥ 00w e®8st @ ¢?
Lereumeuameubmien @yenimb SenGaufage Garl @yligly OFuiwsaigul erdeurd e1gi?
In a 2™ inversion chord which of these notes should be doubled?

(1) Tonic (2) Root 3) 34 4) 5%

6. c» € aB oiDwed gy ©di9s BUPCE Om 08 @S ¢? 9 8
Ueireumeuemeuimie SruuL @eten CGsrl @b@&L GUTmbSHoTen 2 GImioer [Hluoyed {5+ fo
61517 [ =
Which of these, is the appropriate Roman numeral for the given chord?

(1) iib (2) ivb &I}:ﬁﬁ ©
(3) ve (4) vic = -

7. cewdmest € ¢ edstns B01080 Bund d¥es’ 85 »Ddwm ¢7?
Ueraupeuamaubmien 2 @malled syliul Geiten GaLeed @mend sflurs eleufling egi?
Which of these would correctly describe the given cadence?

[) .

| s [ ]

I”(‘T\b_l_) T3

SV

e/

o Ho-

) :

;-b e [ ]
(1) Perfect cadence in D minor (2) Imperfect cadence in F Major
(3) Plagal cadence in F Major (4) Imperfect cadence in D minor

8. 2 a8 »Bn deated Bedm 080 00 8 exdd 30 vemm Drlesd,
syuuL eten el QuuiFinisd o siten engl CrmLed Bel GBmTOFL Uh eeawienibamnds
The number of crotchet beats in the tied notes of the given music extract would be

N

n L) 0 = L 0
| 17 ]| | :{ : 1 I-é-_{__ |
U y— i ——
1 5 (2) 6 3 7 4) 8

9. @830 M e des 80 00 emitds (V7 —1) aod edeByesl el edifs emided S5
800w 9853 e ¢?
OLmbBenenn 7 oyeug Cam @elwmbal GprafllaGam (V'-1) suenguisd Grdledwieger @ed Gpreis Gl
@60 6 eveurh Seupell LuBGb?
In the resolution of a Dominant 7% chord to the Tonic chord (V7 — I) which note is omitted in
the Tonic chord?

y ™ () & (3) 3 (4) Root

e e .
[3 &5 80P Qeaw. / ud. 3 gu UTfés /See page3
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10. 0¥ wBo dedRed BNCE B O» 053565 e®DlsS o ¢?
Leteumevamaupmiet Bks Beosuugduiear sflwmer & ag?
Which of these is the correct key of this passage?

—— - =

: ﬂzp
— —

™ *

[3) | v
(1) B flat Major (2) F Minor (3) E flat Major (4) C Minor

[

11. @®® Cisedvem® ef D0 Digms wosies’ ewetd ¢?
SIUULBeiTen 2 _(Hallsd 2 _sfen  eOMIEIGBET eelaTn BghalinB?
How are the notes in the given illustration played?

ﬁ//"““\\

’__'j
,i ;
(1) Detached (2) Smoothly
(3) Held for its full length (4) Fast

12. Zec 088 8 Sedsierst e®8s8 O e ¢?
Ueeumeuasupmien Lfller eoyd @60 o _silen SibsD 6187
Which of the following compositions is in Triple time?
(1) Country Roads (2) Ihave adream
(3) All kinds of everything (4) You raise me up

13. “8m Be SY&rems B0 gfes 6@y nds deiced ¢?
eraupeuaeupmien Gadlu S abhd & @0 epslIuL Geitengi?
In which key is the National Anthem written?
(1) B flat Major (2) C Major (3) F Major (4) E flat Major

14. 2 B 3896 e508s @.Bmwd Eux 50 BT 8End @8BS O ¢?
eitermeucteuimistt S Bellen eroaumEBmen SMPSHBHL Saasg Wwrmiturg eumd sfiwimen el sig!?
Which of these would be correct when converting the given notes to oriental notation?

n Y
S

T

ve e 8 @

(1) 686 0b660 (2) =56 0bs6® (3) 56 w6008 (4 =B obede

15. 0®® &» B g g O5ies’ e®D8x] @ DBOED ¢?
Uesteu(meuenaubmieit STLULG6Ten BILLAT UL 6hd eumsshGL CUThdhsLomeigi?
Which type of folk song does the given extract belong to?

euies (BACE O S ©es wd Inne Dumbarai maha kalu galak yata
wient moDE8 60 mie@E @D ......... Kanne karawalai rata hale bathata .........
(1) Goyam kavi (2) Pal kavi (3) Pathal kavi (4) Gal kavi

16. ‘Doeszn ol 0®n' um Bme gdq D5les! e®DBs RP® WD ¢?
Uaraumeuaraubmiett ‘autervenm HEens Guws' @D LML 6bd BILshdled sramiupn?
In which of these plays is the song ‘©seszn §osi® e®»’ included?
(1) Sri Wickrama Rajasinghe (2) Dutugemunu
(3) Sri Sangabo (4) Ramayanaya

e

[4 &5 809 Desd®. / us. 4 i uniés / See page 4
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17. 2 o8 9b»@s0 (gEomden) Di1eme BE Y Il edn Cedyn dsies 8z »ood ¢?
Useuheueneuimisit SIUULBeten @iambioain e Semsseld (WweapuilameanssTl B o esl?
In which of the following is the given ornament illustrated, as it should be played?
o
e e e
1
I

=8y .
O = = Q Fe—m—pr—p—
e
@ e 4 g rtpFp—
T EEme———

18. ©®8 & 18 2O»OED ggy 8¢ow e®@ls! e ¢?
Ueiteu(meuateumbmien  SILILC BeiTen ey HemssEhd@Gl Qurmdbsorear Mo egl?
Which of these rhythms would match the given words?

Flowers. Flowers, fragrant and gay everywhere we see.

) "gJ J)J lJ J!,I. |,|J,|JJ,I|J. |5]° "
(2) II%ll:Il‘:I‘:':IG f“:l':'lsa..___/"s f

3) “%J. |J. iJJ'IIS‘ iJ .l|;[ -Iisl° iJ' 1
4) "2":"l':::"{":‘:::lﬁ-._.f f

19. ‘dasinG @d gol’ om Boo gi.g Osles’ nP» Bu8nid e ¢?
‘GroLeET Led @6l && eIaim UTLe0 STl Wluldlessd egil?
In which musical is the song ‘Spoonful of sugar’ found?
(1) Wizard of Oz (2) Oklahoma (3) Sound of Music (4) Mary Poppins

20. @28zt BCE sy Dxies! 9O ¢?
Weiteuhevemeummien giluiner swbmi ergl?
Which of these is correct?
(1) Modulation means change of key
(2) The flute is a transposing instrument
(3) Gershwin was a composer of string Quartets
(4) Modulation means change of Piich

21. ee00000m 85edd v Jewd 9 @imsens afedrsiess,
Ganeppr geaniey Wanee, LflGwr eeaer GuTgeuTs G bELMIeIS
In a Sonata, the Minuet and Trio normally occurs in the
(1) 1% movement (2) 2™ movement (3) 3" movement (4) 4™ movement

22. 'p¥D om0 ¥ Drfes’ o® CwwdwsidGs RO Ow ¢?
Uereumeueaubmien ‘dipadl. GBM’ abs 2 (BayL e OSmfyu@h?
In which given illustration is the word ‘crushed note’ associated with?

Nt
il

(1 2 3 “

IILN

i

J

[5 85 809 Pedle. / L&, 5 QU UMHS / See page 5
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23. obdSsied ‘dded e g »® iBe COm BO® cded VemeiYd s Dum RO BB wodn Wwoestw
€00 &7
Deeumeuenaupmel  Cajasele Ger ‘glFp ST UeEh CaID QHSD OSEVITOLET 6bSS Sl
BmasHEHalSHETHE (LRSI BeTeng)?
For which solo instrument with orchestra did Gershwin compose ‘Rhapsody in Blue?
(1) Harp (2) Trumpet (3) Clarinet (4) Piano

-

24. ‘Hautbois’ om» 58z3 ¢ 95305 6585 wiedde @853 @ ¢?
Weateumeuaneumpmier  ‘Hautbois’ eieiiy Quuwiflenmmed @i OuGd @m&a&&@sﬁ\ a1&l?
Which of the following instruments is also called ‘Hautbois’?
(1) Cor Anglais (2) HominF (3) Oboe (4) Bassoon

25. Bwes¥embied dmm gyds evdeusd ecn ¢ ewignn e e®D8s RO ¢?
Uersumeaieneubmiet HwrGamGean gemiled Lrbiged QUL Suead LWGTLESSS Fniguisl 61g17
Which of these can also be used as a practice pedal in a Pianoforte?

(1) Una Corda (2) Sostenuto pedal  (3) Soft Pedal (4) Damper Pedal

26. ‘egtded] wm @nBEwizm vew e0Bes! O e eweem todn ARG DB RO ¢?
Ueitaumeusiaubmist ‘LIGmmed@ym eeim @ssmedws Garevensy GILEUT el GOHILIGL Sms DusHD 657
Which of these compositions would print the Italian Term ‘Presto’ as it’s tempo ?

(1) Chopin’s Minute Valse (2) Beethoven’s 9% symphony
(3) Scott Joplin’s The Entertainer (4) Brahms Lullaby

27. 0PN Demeien glo® DD .8 HeBie @85 o ¢?
Uehaumeuaiaupmien GFbuy @bsedyralsd DI mErs Dmsssmel eag?
Which of these instruments is not included in a chamber orchestra ?
(1) Trombone (2) Clarinet (3) Viola (4) Trumpet

28. BeysS85H0EDED B:Bma s wiedters d¥es e®Di8xsS @ ¢7
Ueieumeueieupmien Ba8rm eUlflFseusted BBE Bens aupmGL aTsHlusHmHal g7
Which of these instruments is used to accompany Negro spirituals?

(1) Guitar (2) Mandolin (3) Banjo (4) Violin

29, o8cendmae ausl Dxiest 858 Digs wiedt) ©HE0 ¢?
@seuBUTe ehs Badsameld GBLUSHISES 2 fEHSTEGL?
To which family of instruments does the xylophone belong?
(1) Percussion (2) Brass wind (3) Woodwind (4) String

30. € 15 e3:8m Dedis Digms BOOD eMINB oBm wredtda B @ ¢?
Ueiaumeuaiaubmien SIUuL Belien Gevgew aundlés wWgwng arsdus smel ag?
On which of these instruments is the given melody mot possible to be played?

1% I 1
I I

1 S [ I
| 1 _= I I ! | il

I T [ 1 - :i =

(1) Guitar (2) Trumpet (3) Piano (4) Recorder

31. 200 000 ‘BReedd me wuSer & B B wreRBLORs OB ¢?
Ueraimeuaieupmei e Geaupplarons ‘deagaiLr @il LWSTUGSSHSmow ansSHlusamal g?
In which of the following instruments is the most effective ‘Glissando’ possible?
(1) Clarinet (2) Trombone (3) Bass drum (4) Tuba

32. ‘edoddst oG @B FeE O IOm mOm cded 98013 B85S ¢7
‘erveunest Gevs’ e LG Bemen gusa&leuy wy?
Who composed the ballet ‘Swan Lake’?
(1) Tchaikovsky (2) Prokofiev (3) Stravinsky (4) Gershwin

[6 &5 B0 REa®. / usk. 6 mi urjbs / See page 6

((BLLabEa 0 1 d8oeahc v skt 5o on/38att 59/ sdudlk vk deinikeldiadwww. olevelapi.com [



OL/2020/41/STE-I, 11 "

33. 2 a5 8 quecs’ @Rb0 885 D eWOD cfed AT ¢?
Leiteu(heueneauBmIen ST Eenmed DUSEHIILTS LHHD 61T
Which of these compositions was not composed by Schubert?
(1) Gretchen at the spinning wheel (2) Liebestraum
(3) ErlKing (4) The Trout song

34, »eeiBoried ewith alid gin®enc 018winDst t080mE Bl B8 1988 edmeds! By wabo dsies’
Bxf ot ¢?
Leneu(hsuensubmist GrLBUTeSwelie &yewig oufl susdrdismu gadwiser GauBnlarons a&isHsms
CareaLIBl alssdled erupslulL SubsD 6517 )
Which composition was written to commemorate the successful Russian defense against Napolean'’s invasion
of Grande Armee?

(1) Handel’s Fireworks music (2) Tchaikovsky’s 1812 overture
(3) Gershwin’s Rhapsody in Blue (4) Verdi’s Aida

35, Bwiexid wagm IBn mific e®8s e ¢?
Uesreumeveneumpmie LIwnGenm SHens epSULLL. SiHHD 6157
Which of these is written for the Piano ?
(1) Bolero (2) Moonlight Sonata
(3) Fidelio (4) Four seasons

36. BO10T e D3es) BB O ¢?
Weireu(mevemeummiei Fflwimesr eursawb 61gl?
Which of the following statements is correct?
(1) The viola sounds an octave lower than the violin
(2) The violais a transposing instrument
(3) Music for The Viola is written in the Alto clef
(4) The Lowest note which can be played on the viola is Middle C

37. »sfosfoled demil dend evEsl® giFfes e85 e ¢?
Ueiteuheusieummien Glarer sl ford ao@smy Blsd o1 o FosHHe0 2 6tens e5?
Which of these is at the top of the conductors score?

(1) String instruments (2) Wood wind instruments
(3) Brass instruments (4) Percussion instruments

38. toBmed 300 Bagz.® ©8m WOBiess @ ee®d ¢?
Benguiey eveuy GoeGLITEeT (software) erEMmaTsll LGS SUILBS D7
What is the use of notational software in music?
(1) Used to reproduce the sound of real music (2) Used to create sheet music
(3) Used to add extra sounds to music (4) Used to edit sound tracks and replay music

39. em95i0esiod cenre 8BRS Diies,
OEBTETBUEITE UMMBIGLET CSTLTUmL Wg
Contrapuntal style is associated with the
(1) Baroque period (2) Classical period (3) Romantic period (4) Modern period

40. 8 cooenio s:8m 20 O ‘DB’ ®mame 58 BB ¢ § w:Bmww e@fslewns’ Yol ¢?
Beomensilen BensHEmevlTer ‘LT LML LSh Gumeusne Uniselil auondiu Qemed sameveh)

wiriy?
Who is recognized for making ‘baila’ grow into a well-known Sri Lankan popular music form?
(1) M.S.Femando (2) C.T.Fernando
(3) Clarence Wijewardane (4) Wally Bastiansz
\ —_—

3 [7 &8 80P Des®. / us. 7 eg1 unijse / See page 7
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